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3agada .1

OTBeThbI 1 perneHus 3aaa9



Ba,uaqa .1. (Orser upusesen na cp.5.) ,ZLOK&)KI/ITG, qro 27 + 2% JleJInTCA
na 100.



Pemtenne 3amgaanm 1.

Bapaua 1. [okaxkure, uro 27 + 2% nemmrea na 100.



299

Bagaua 1. Jloxaxwure, uro 27 + nemureda vHa 100.

OTser.
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Bagaua 1. Jloxaxwure, uro 27 + nemureda vHa 100.

OTser.



299

Bagaua 1. Jloxaxwure, uro 27 + nemureda vHa 100.

OTBer.

29 + 299 —
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Bagaua 1. Jloxaxwure, uro 27 + nemureda vHa 100.

OTBer.

29 _|_299 — 29 (1 _|_290) —



299

Bagaua 1. Jloxaxwure, uro 27 + nemureda vHa 100.

OTBer.

29 + 299 _— 99 (1 + 290) —99 <1 + (230)3> _



Bagaua 1. JJokaxkure, uto 27 + 2% nemmrea ma 100.

OTBer.

29 + 299 — 29 (1 + 290) :29 <1 + (230)3> :29 (1 + 230) <1 + 230 + (230)2> _



Bagaua 1. JJokaxkure, uto 27 + 2% nemmrea ma 100.
Otser. 1 + 230 =

29 + 299 — 29 (1 + 290) :29 <1 + (230)3> :29 (1 + 230) <1 + 230 + (230)2> _



Bagaua 1. JJokaxkure, uto 27 + 2% nemmrea ma 100.
Otser. 1+ 23 =1 + (210)3 =

29 + 299 — 29 (1 + 290) :29 <1 + (230)3> :29 (1 + 230) <1 + 230 + (230)2> _



Bamaua 1. [lokaxure, uto 2° + 2% neqmrest na 100.
OtBet. 1+ 2% =1 4 (210)° =(1 + 210) <1 4910 4 (210)2> _

29 + 299 — 29 (1 + 290) :29 <1 + (230)3> :29 (1 + 230) <1 + 230 + (230)2> _



Bagaua 1. JJokaxkure, uto 27 + 2% nemmrea ma 100.
Ommer. 1+ 2% =1+ (210)° =(1+21%) (14210 + (21%)°) =(1+1024) (1 +21° + (219)*) =

29 + 299 — 29 (1 + 290) :29 <1 + (230)3> :29 (1 + 230) <1 + 230 + (230)2> _



Bagaua 1. JJokaxkure, uto 27 + 2% nemmrea ma 100.
Ommer. 1+ 2% =1+ (210)° =(1+21%) (14210 + (21%)°) =(1+1024) (1 +21° + (219)*) =

— 1025 (14210 4 (219)°) =
29 + 299 — 29 (1 + 290) :29 <1 + (230)3> :29 (1 + 230) <1 + 230 + (230)2> _



Bagaua 1. JJokaxkure, uto 27 + 2% nemmrea ma 100.
Ommer. 1+ 2% =1+ (210)° =(1+21%) (14210 + (21%)°) =(1+1024) (1 +21° + (219)*) =

= 1025 (1 + 2104 (210)2) —95.41 - <1 4910 4 (210)2) .
29 429 =29 (1 +2%) =27 <1 + (230)3> =29 (1 + 230) <1 130 4 (23(])2) _



Banada 1. Joxaxmure, uato 2° + 2% nemurca ma 100.
Ommer. 1+ 2% =1+ (210)° =(1+210) (14210 + (21%)°) =(1+1024) (1421 + (219)%) =

= 1025 (1427 + (2)°) =25 41- (1429 + (2)°).
2% +2% =2°(142%) =2° (1 + (23“)3) —29 (1 + 23) (1 + 230 4 (230)2) _

=2 [ (1 2+ @) =



Bagaua 1. JJokaxkure, uto 27 + 2% nemmrea ma 100.
Ommer. 1+ 2% =1+ (210)° =(1+21%) (14210 + (21%)°) =(1+1024) (1 +21° + (219)*) =

= 1025 (1420 + (210)°) =25 41+ (1421 + (2)?)
29 + 9299 _ 99 (1 + 290) —99 <1 + (230)3> —929 (1 + 230) <1 + 230 + (230)2> _
—99.95.41] - (1 4910 4 (210)2>. <1 4930 4 (230)2) _



Bagaua 1. JJokaxkure, uto 27 + 2% nemmrea ma 100.
Ommer. 1+ 2% =1+ (210)° =(1+21%) (14210 + (21%)°) =(1+1024) (1 +21° + (219)*) =

= 1025 (1 4210 4 (210)2) =25 41 - (1 4210 4 (210)2) .
29 + 299 — 29 (1 + 290) :29 <1 + (230)3> :29 (1 + 230) <1 + 230 + (230)2> _
— 29 .25.41 - (1 + 210 + (210)2> . (1 + 230 + (230)2) — .27 .41 - (1 + 230 + (230)2> ]



Bagaua 1. JJokaxkure, uto 27 + 2% nemmrea ma 100.
Ommer. 1+ 2% =1+ (210)° =(1+21%) (14210 + (21%)°) =(1+1024) (1 +21° + (219)*) =

= 1025 (1420 + (210)°) =25 41+ (1421 + (2)?)
29 + 9299 _ 99 (1 + 290) —99 <1 + (230)3> —929 (1 + 230) <1 + 230 + (230)2> _
—29.95.41 (1 +210 4 (210)2)- (1 4230 4 (230)2) — 10027 - 41 - (1 4230 4 (230)2> .



Bagaua 1. JJokaxkure, uto 27 + 2% nemmrea ma 100.
Ommer. 1+ 2% =1+ (210)° =(1+21%) (14210 + (21%)°) =(1+1024) (1 +21° + (219)*) =

= 1025 (1420 + (210)°) =25 41+ (1421 + (2)?)
29 + 999 _ 99 (1 + 290) —99 <1 + (230)3> —929 (1 + 230) <1 + 230 + (230)2> _
—29.95.41. (1 +210 4 (210)2)- (1 4230 4 (230)2) — 10027 - 41 - (1 4230 4 (230)2> .



Bagaua 1. JJokaxkure, uto 27 + 2% nemmrea ma 100.
Ommer. 1+ 2% =1+ (210)° =(1+21%) (14210 + (21%)°) =(1+1024) (1 +21° + (219)*) =

= 1025 (1 + 2104 (210)2) —95.41 - <1 4910 4 (210)2) .
29 429 =29 (1 +2%) =2° <1 + (230)3> =29 (1 + 230) <1 1930 4 (23(])2) _

—29.95.41. (1 +210 4 (210)2)- (1 4230 4 (230)2) — 10027 - 41 - (1 4230 4 (230)2> .
SBajiava periexa.



Cracu6bo
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BHUMaHUue!

e-mail: melnikov@k66.ru, melnikov@r66.ru
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BepuyTbcsa K crimcky Immpe3eHTanmii?
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